



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Mathematics) 8th Semester, Morning, Session Autumn 2025

Registration #	Name	MTH-508					MTH-602					MTS-301					MTS-401					MTS-403					MTS-404				
		Differential Geometry-II					Functional Analysis-II					Calculus-I					Mathematical Methods					Algebra					Differential Equation				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S Math Aut-21-M-0002	Akber Ali	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0004	Ali Muhammad	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0005	Araiz	74	B	3.0	3	9.0	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-
B.S Math Aut-21-M-0006	Arsalan Ahmed	-	-	-	-	84	A	4.0	3	12.0	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0007	Ashyan Safer	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0010	Ayesha Younas	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0026	Tajjamil Hussain (FYP Copy Not S	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0004	Maham Abrar Abbasi	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0005	Muhammad Shoaib Zubair	-	-	-	-	92	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0008	Sadaf Bibi	-	-	-	-	95	A	4.0	3	12.0	70	B	3.0	4	12.0	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0005	Atizaz Hassan (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0007	Bilal Ahmed	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0012	Laiba Ali (FYP Copy Not Submitte	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0016	Muhammad Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0018	Muhammad Zeeshan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	
BS Math Aut-20-M-0019	Munawar Hussain	-	-	-	-	68	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0021	Mutaher Mushtaq	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Mathematics) 8th Semester, Morning, Session Autumn 2025

		MTS-502					MTS-503					MTS-504					MTS-505					MTS-506					MTS-507				
		Differential Geometry					Modern Algebra					Linear Algebra					Real Analysis					Complex Analysis					Mathematical Physics - I				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S Math Aut-21-M-0002	Akber Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0004	Ali Muhammad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0005	Araiz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0006	Arsalan Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0007	Ashyan Safeer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0010	Ayesha Younas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math Aut-21-M-0026	Tajjamil Hussain (FYP Copy Not S	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0004	Maham Abrar Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0005	Muhammad Shoaib Zubair	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0008	Sadaf Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0005	Atizaz Hassan (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0007	Bilal Ahmed	83	A	4.0	3	12.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0012	Laiba Ali (FYP Copy Not Submitte	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0016	Muhammad Saleem	-	-	-	-	-	55	C	2.0	3	6.0	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0018	Muhammad Zeeshan	-	-	-	-	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0019	Munawar Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
BS Math Aut-20-M-0021	Mutaher Mushtaq	-	-	-	-	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	-	80	A	4.0	3	12.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Mathematics) 8th Semester, Morning, Session Autumn 2025

		MTS-512					MTS-604					MTS-653					MTS-654					MTS-659					MTS-663				
		Numerical Analysis-II					Statistical Analysis					Fluid Dynamics-I					Fluid Dynamic-II					Operation Research					Special Functions				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S Math Aut-21-M-0002	Akber Ali	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S Math Aut-21-M-0004	Ali Muhammad	-	-	-	-	62	C	2.0	3	6.0	87	A	4.0	3	12.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S Math Aut-21-M-0005	Araiz	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	
B.S Math Aut-21-M-0006	Arsalan Ahmed	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S Math Aut-21-M-0007	Ashyan Safeer	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	
B.S Math Aut-21-M-0010	Ayesha Younas	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	-	-	-	-	-	
B.S Math Aut-21-M-0026	Tajjamil Hussain (FYP Copy Not S	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S Math SP-2022-M-0004	Maham Abrar Abbasi	61	C	2.0	3	6.0	90	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S Math SP-2022-M-0005	Muhammad Shoaib Zubair	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	3	4.5	-	-	-	-	-	
B.S Math SP-2022-M-0008	Sadaf Bibi	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	70	B	3.0	3	9.0	55	C	2.0	3	6.0	-	-	-	-	-	
BS Math Aut-20-M-0005	Atizaz Hassan (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0007	Bilal Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0012	Laiba Ali (FYP Copy Not Submitte	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0016	Muhammad Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0018	Muhammad Zeeshan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS Math Aut-20-M-0019	Munawar Hussain	-	-	-	-	35	F	-	3	-	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	-	-	-	-	-	
BS Math Aut-20-M-0021	Mutaher Mushtaq	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	55	C	2.0	3	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Mathematics) 8th Semester, Morning, Session Autumn 2025

		MTS-670					MTS-674					PST-451				
		Integral Equations					Final Year Project					Pakistan Studies				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S Math Aut-21-M-0002	Akber Ali	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-
B.S Math Aut-21-M-0004	Ali Muhammad	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-
B.S Math Aut-21-M-0005	Araiz	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-
B.S Math Aut-21-M-0006	Arsalan Ahmed	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-
B.S Math Aut-21-M-0007	Ashyan Safeer	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-
B.S Math Aut-21-M-0010	Ayesha Younas	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-
B.S Math Aut-21-M-0026	Tajjamil Hussain (FYP Copy Not S	-	-	-	-	-						-	-	-	-	-
B.S Math SP-2022-M-0004	Maham Abrar Abbasi	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-
B.S Math SP-2022-M-0005	Muhammad Shoaib Zubair	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-
B.S Math SP-2022-M-0008	Sadaf Bibi	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-
BS Math Aut-20-M-0005	Atizaz Hassan (Withheld due to Fe	-	-	-	-	-						-	-	-	-	-
BS Math Aut-20-M-0007	Bilal Ahmed	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-
BS Math Aut-20-M-0012	Laiba Ali (FYP Copy Not Submitte	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0
BS Math Aut-20-M-0016	Muhammad Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS Math Aut-20-M-0018	Muhammad Zeeshan	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-
BS Math Aut-20-M-0019	Munawar Hussain	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-
BS Math Aut-20-M-0021	Mutaher Mushtaq	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026